

$$|U|_{3\sigma}^{\text{w/o SK-atm}} = \begin{pmatrix} 0.801 \rightarrow 0.845 & 0.513 \rightarrow 0.579 & 0.143 \rightarrow 0.156 \\ 0.232 \rightarrow 0.507 & 0.459 \rightarrow 0.694 & 0.629 \rightarrow 0.779 \\ 0.260 \rightarrow 0.526 & 0.470 \rightarrow 0.702 & 0.609 \rightarrow 0.763 \end{pmatrix}$$

$$|U|_{3\sigma}^{\text{with SK-atm}} = \begin{pmatrix} 0.801 \rightarrow 0.845 & 0.513 \rightarrow 0.579 & 0.144 \rightarrow 0.156 \\ 0.244 \rightarrow 0.499 & 0.505 \rightarrow 0.693 & 0.631 \rightarrow 0.768 \\ 0.272 \rightarrow 0.518 & 0.471 \rightarrow 0.669 & 0.623 \rightarrow 0.761 \end{pmatrix}$$